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TERM 3 END-TERM EXAM 2011
AGRICULTURE FORM 2

ANSWER ALL QUESTIONS

1. State four reasons for handling livestock in the farm.					(4mks)

........................................................................................................................................................................................................................................................................................................................ ........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
2. List three post-harvest practices carried out in onions.					(3mks)
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
3. Name the breed of rabbits with the following characteristics.
i) White body and red eyes.______________________________________________	(1mk)
ii) White body with one or more of the following parts black; ears, nose, paws and tail.	(1mk)
............................................................................................................................................................
4. A farmer owns 3 ha of land. He is advised to apply 300kg/ha of a compound fertilizer 	          20-10-10.											
a) Calculate the amount of potassium oxide that the farmer applied on his farm.		(3mks)






b) If the price of 50kg bag of the compound fertilizer was 2,400/=, how much money did the farmer use?											(3mks)	










5. a) Describe the life cycle of a two-host tick.						(8mks)

........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
b) Name two ticks that undergo this life cycle.						(2mks)

........................................................................................................................................................................................................................................................................................................................
6. Give three mechanical methods used in the control of ticks.				(3mks)

........................................................................................................................................................................................................................................................................................................................
............................................................................................................................................................
7. Study the illustration below and answer the questions that follow.





















a) Name the parts labeled A, B and C.							(3mks)

A.........................................................................................................................................................B.........................................................................................................................................................
C.........................................................................................................................................................
b) State the functions of the parts named above.						(3mks)
A.........................................................................................................................................................B.........................................................................................................................................................
C.........................................................................................................................................................
c) State any three qualities that the structure above should meet.				(3mks)
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
8. Below is a diagram of livestock parasite, study the diagram and answer the questions that follow.








i) Identify the parasite.									(1mk)
............................................................................................................................................................
ii) Name the intermediate host of the parasite indicate above.				(1mk)
........................................................................................................................................................................................................................................................................................................................
iii) Name the body organ in livestock where the parasite is found.				(1mk)
........................................................................................................................................................................................................................................................................................................................
9. Which tool and equipment would be required for the following uses?
i) Cutting along curved surface of wood _______________________________________ (1mk)
ii) Tightening barbed wire during fencing _____________________________________	(1mk)
iii)  Holding milk in transit and storage _______________________________________	(1mk)
iv) Cutting curves on thin wood ____________________________________________	(1mk)
v) Checking whether a cow has mastitis __________________________________	(1mk) 
10. State any five physiological body functions which are signs of ill health in livestock.	(5mks)
........................................................................................................................................................................................................................................................................................................................
............................................................................................................................................................
............................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
............................................................................................................................................................
11. Discuss production of carrots under the following subheadings.
a) Ecological requirements.									(2mks)
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
b) Planting											(2mks)
............................................................................................................................................................
............................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
c) Field management practices.								(4mks)
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................
........................................................................................................................................................................................................................................................................................................................ ............................................................................................................................................................
............................................................................................................................................................ ............................................................................................................................................................
............................................................................................................................................................
d) Harvesting.											(2mks)
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